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Instructions: 900_';:
1) Determine the telescope-seen) performance index nfirom the table. 800 —z
2] Column E -telescope-seea perfonmance ndex ic Mark the valoe on T00 3
Colkemn E scale. -
3) COemn B - magtnde dillerence delia me Mark the magitnde dillerence bDDE
between the ten stars on the Colamn B scale. =
4) Comect the point=. Read the ntersecting separation perirmance mdex 500 -~
yalue from the scale Coluomn C-R or “C -right hand side™. —
5) Transfer and mark the separation perfrmance index value tn the Column =
C1 iverse scale for [Column C - lelt). 400 =
6) Mark the apehare of your scope on Column D or D - aperhre. =
71 Drawr a Iine through the aperhre [Colamn 1) ad separation perfrmance =
mdex wale [Colmn C-1 ), extending ine throogh Colomin A - predicated E‘
separation Bmit. 300
) Readd the resull off of Colomn &, predicied separation Bmil [@acsecs) —]
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I = 7 = a0 shavurtion ratin. Telmbsted values of u correcpasd ts sach acter - te shixin
- I = o the perfurmance imdes, simply aid the Esctors:
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